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V ERERR

(1) KRZERK

(BFRS5ERE)
( /mL)

EER

6.6

0.1

0.2

Werismopedia spp.

Wicrocystis spp.

Aphanizomenon spp.

Anabaena macrospora

0.1

Oscillatoria tenuis

o|e

Oscillatoria spp.

Chroococcus spp.

Anabaena spp.

Homoeothrix spp.

Phormidium tenue

0.2

Phormidium spp.

Others

B & =B

58

354

156

292

128

114

248

400

500

494 146

Achnanthes  spp.

16

36

24

24 6

Amphora  spp.

10

Asterionella spp.

10

NSIESES

Aulacoseria spp.

Bacillaria spp.

Ceratoneis spp.

Cocconeis spp.

22

16

Cyclotella spp.

N

N

2

Cymbella spp.

18

18

Cymatopleura spp.

Diatoma spp.

52 2

Diploneis spp.

[Epithemia spp.

Fragilaria spp.

24

38 10

Gomphonema  spp.

10

34 14

Gyrosigma spp.

Welosira  spp.

18

22

14 4

Navicula spp.

142

84

80

204

234 62|

Neidium spp.

Nitzschia acicularis

Nitzschia spp.

20

43

43

34

Pinnularia spp.

10

Rhoicosphenia spp.

Skeletonema potamos

Surirella spp.

Stephanodiscus spp.

Stauroneis spp.

Synedra acus

Synedra ulna

Synedra  spp.

32

Tabellaria spp.

Others

% % =

22

34

28

68

22

Actinastrum spp.

Ankistrodesmus  spp.

Carteria spp.

Chlamydomonas _spp.

Chloromonas spp.

Chlorogonium spp.

Closterium _spp.

Coelastrum spp.

Cosmarium spp.

Cosmocladium spp.

Crucigenia spp.

30

Gloeocystis spp.

Flakatothrix spp.

Fudorina spp.

Vougeotia _spp.

Micractinium spp.

Oocystis spp.

Others

Pandorina _spp.

Pediastrun_spp.

Pleodorina _spp.

Quadrigula spp.

Scenedesmus _spp.

22

Schroederia_spp.

Selenastrum spp.

Staurastrum_spp.

S

tigeoclonium spp.

Sphaerocystis _spp.

Spondylosium spp.

Tetraedron _spp.

)T B

=)

| Cryptomonas  spp.

B & BB

| Wallomonas spp.

|//1'1wl17 “yon _spp.

W E R

Glenodinium spp.

Ceratium spp.

Peridinium spp.

a-JLF ZE

Phacus_spp.

Fuglena spp.

Lepocinclis spp.

Irachelomonas spp.

LK

MEH

HRAE

Z DM

E3 [

4
i

384.6

14.1

190

378

156

184.2

262

416

524

516.1 158
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(2) ARNZILEK (BFASFEE)
( /10mL)

B FE #H oo o o 6 of of of o of o o

Anabaena spp.

Aphanocapsa spp.

Chroococcus spp.

Oscillatoria spp. 6

Merismopedia spp.

Others

E B = 11 7 2 9 10 12 12 3 17 3 28
Achnanthes  spp. 1 1

Amphora spp.

Asterionella spp.

Aulacoseria spp.

Cocconeis spp. 2 2 2

Cyclotella spp. 1 1 1
Cymatopleura spp.

Cymbella spp. 1
Diatoma spp. 1 1 1
Diploneis spp.

Fragilaria spp. 2

Gomphonema spp. 1 1 2
Gyrosigma spp.

Melosira spp. 6 2 1 1
Navicula spp. 5 6 2 6 1 2 9 1 15
Neidium spp.

Nitzschia spp. 1 2 4 2 1 3 1

Nitzschia acicularis

Pinnularia spp.

Rhoicosphenia spp.

Surirella spp. 2

Synedra spp. 1 1 1 1

W =B B 2 71 ol a1 o 1l 3] o 1] 1

Ankistrodesmus spp. 2 8 2 2

Botryococcus spp.

Chlamydomonas spp. 7 2 1 1 1

Closterium spp.

Coccomyxa spp.

Coelastrum spp. 9

Fudorona spp.

Gloeocystis spp.

Mougeotia spp.

Oocystis spp.

Pandorina spp.

Pediastrum spp.

Scenedesmus spp. 2 2

Schroederia spp.

Selenastrum spp.

Staurastrum spp.

Sphaerocystis _spp. 1

7)) 7 ~EEE 0 0 0 0 0 0 0 0 0 0 0
_L(/’ryptomgnas Sop. —

RG] i 3 58 0 0 0 5 0 0 0 0 0 0 0

Ceratium spp.

Peridinium spp. 5

- & & 0 0 0 2 0 0 0 0 0 0 0

Lepocinclis spp.

Euglena spp. 2

Phacus spp.

Trachel omonas_spp.

WMo B 0 0 0 3 1 0 0 0 0 0 0

REFH (7 A —) 2

Az 1

= D]

& ¥ L 5 13 14 2 46 1 13 15 3 18 4 32

94



